

				Vendor	Ranking				Page 1 of
Lettin	g:	05190205	February 05, 2019 2:00 PM	Call Order	: 004		Contract:	E5U74	
Distri	ct:	District 5		Counties:	ORANG	Ε	Fed Aid No	: N/A	
Contr	act Time:	110 CALEN	DAR DAYS				Project(s):	44169617201	
Contr	act Desc:	Asphalt Milli	ng and Resurfacing						
Rank			Vendor	Bic	а Туре	Bid Status	-	Total Bid	Percent Of Low Bid
1	MIDDLESE	EX PAVING, L	LC	Res	ponsive	Winning bid		\$374,507.84	100.00%
2	HUBBARD	CONSTRUC	TION COMPANY	Res	ponsive	Non-Winning Bid		\$376,041.24	100.41%
3	CHEYENN	E ASSOCIAT	ES, INC.	Res	ponsive	Non-Winning Bid		\$413,024.07	110.28%
4	PREFERR	ED MATERIA	LS INC.	Res	ponsive	Non-Winning Bid		\$420,000.00	112.15%
5	P & S PAV	ING, INC.		Res	ponsive	Non-Winning Bid		\$437,229.36	116.75%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Lead Time: 14 Days

Tabulation of Bids									
Letting:	05190205	February 05, 2019	Call Order:	004	Contract:	E5U74			
District:	District 5		Counties:	ORANGE	Fed Aid No	: fedprojects			
Contract Time:	110 CALEN	DAR DAYS			Project(s):	44169617201			
Contract Descr FDOT District 5 Proposal ID No. E Financial Project I Fiscal Year: 2019 County: Orange Contract Calendar	5U74 No. 441696-1-7	ng and Resurfacing 2-01							

This is a Maintenance Pay Item Contract

Intent: Work under this Contract consists of asphalt milling and resurfacing, replacement of traffic loops, pavement markings and reflective pavement markers on various State Roads in Orange County.

Experience/Expertise: For this Contract, the Contractor is required to have at least three (3) years of experience in the performance of asphalt paving projects, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Hot Plant Mix Bituminous Course" will suffice to meet the above requirements.

Line No / Item ID Alternat	e Quantity Units	(1) MIDDLESEX	PAVING, LLC	(2) HUB CONSTRUCTIO		• •	E ASSOCIATES, IC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ASPHALT REP	AIR (MECHANICA	L) (TN)				
0005 0101 1 MOBILIZATION	(1.000) LS	35,000.00000	35,000.00	25,044.58000	25,044.58	30,810.06000	30,810.06
0010 0102 1 MAINTENANCE OF TRAFFIC	(1.000) DA (LS)	44,000.00000	44,000.00	38,633.05000	38,633.05	16,251.98000	16,251.98
0015 0327 70 6 MILLING EXIST ASPH PAVT, 1 1/2" DEPTH	19,100.110 AVG SY	3.00000	57,300.33	3.27000	62,457.36	2.59000	49,469.28
0020 0337 7 83 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC C, FC-12.5, PG	1,575.470 TN 76-22	138.00000	217,414.86	142.07000	223,827.02	178.29000	280,890.55



Page 2 of 7

Letting:	05190205	February 05, 20	019 Ca l	Il Order: 004		Contract:	E5U74	
Line No / Item Dese		e Quantity Units	(1) MIDDLESEX	PAVING, LLC	(2) HUE CONSTRUCTIO			ASSOCIATES,
() indicates	s item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	ASPHALT REP	AIR (MECHANICA	AL) (TN)				
	0 2102 MBLY, F&I, TYPE B	6.000 AS	750.00000	4,500.00	1,324.78000	7,948.68	1,012.50000	6,075.00
	0 2106 MBLY, F&I, TYPE F	8.000 AS	950.00000	7,600.00	1,655.97000	13,247.76	1,012.50000	8,100.00
0035 070 RETRO-REF PAVEMENT	LECTIVE/RAISED	373.000 EA	4.00000	1,492.00	2.82000	1,051.86	5.40000	2,014.20
PAINTED PA	0 11101 VEMENT MARKINGS, WHITE, SOLID, 6"	1.476 GM	1,100.00000	1,623.60	742.73000	1,096.27	2,700.00000	3,985.20
PAINTED PA STANDARD,	0 11102 VEMENT MARKINGS, WHITE, SOLID FOR GE AND URBAN ISLAN	0.010 GM D, 8"	1,500.00000	15.00	1,025.00000	10.25	6,750.00000	67.50
PAINTED PA STANDARD,	0 11123 VEMENT MARKINGS, WHITE, SOLID FOR K AND ROUNDABOUT,	2,035.000 LF 12"	0.75000	1,526.25	0.35000	712.25	2.70000	5,494.50
PAINTED PA STANDARD,	0 11124 Vement Markings, White, Solid For Dr Chevron, 18"	224.000 LF	1.00000	224.00	0.42000	94.08	4.05000	907.20
PAINTED PA STANDARD,	0 11125 VEMENT MARKINGS, WHITE, SOLID FOR S OSSWALK, 24"	228.000 LF TOP	1.00000	228.00	0.49000	111.72	5.40000	1,231.20



Page 3 of 7

Letting:	05190205	February 05, 2	019 Ca l	Il Order: 004		Contract:	E5U74	
Line No / Item Item Descripti		ite Quantity Units	(1) MIDDLESEX	PAVING, LLC	(2) HUE CONSTRUCTIO			ASSOCIATES, IC.
() indicates item	is bid as Lump Sun	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ASPHALT REP	AIR (MECHANICA	AL) (TN)				
0065 0710 111 PAINTED PAVEM STANDARD, WHIT SKIP, 6" WIDE	ENT MARKINGS		750.00000	405.00	459.04000	247.88	2,700.00000	1,458.00
0070 0710 111 PAINTED PAVEM STANDARD, WHI ⁻ GUIDELINE/ 6-10 6"	ENT MARKINGS TE, 2-4 DOTTED		750.00000	67.50	459.00000	41.31	2,700.00000	243.00
0075 0710 111 PAINTED PAVEM STANDARD, WHI ^T SYMBOL	ENT MARKINGS		50.00000	450.00	21.19000	190.71	101.25000	911.25
0080 0710 111 PAINTED PAVEM STANDARD, WHI	ENT MARKINGS	28.000 S, EA	50.00000	1,400.00	17.66000	494.48	67.50000	1,890.00
0085 0710 112 PAINTED PAVEM STANDARD, YELI	ENT MARKINGS	1.073 6, GM	1,100.00000	1,180.30	743.67000	797.96	2,700.00000	2,897.10
0090 0710 112 PAINTED PAVEM STANDARD, YELI DIAGONAL OR CH	ENT MARKINGS .OW, SOLID FOI		1.00000	81.00	0.42000	34.02	4.05000	328.05
0001 ASI	PHALT REPAIR HANICAL) (TN)	Section Totals:		\$374,507.84		\$376,041.24		\$413,024.07



02/15/2019

Tabulation of Bids

Page 4 of 7

Letting:	05190205	February 05, 20	019 Ca l	l Order: 004		Contract:	E5U74	
Line No / It Item Descr		te Quantity Units	(4) PREFERREI INC		(5) P & S PA	VING, INC.		
() indicates i	tem is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	ASPHALT REP	AIR (MECHANICA	L) (TN)				
0005 0101 MOBILIZATIOI		(1.000) LS	27,160.65000	27,160.65	25,000.00000	25,000.00		
0010 0102 MAINTENANC	1 E OF TRAFFIC	(1.000) DA (LS)	58,425.00000	58,425.00	32,000.00000	32,000.00		
0015 0327 MILLING EXIS DEPTH	70 6 T ASPH PAVT, 1 1/2"	19,100.110 AVG SY	3.81000	72,771.42	4.65000	88,815.51		
	7 83 NCRETE FRICTION FFIC C, FC-12.5, PG	1,575.470 TN 76-22	145.00000	228,443.15	160.00000	252,075.20		
	2102 BLY, F&I, TYPE B	6.000 AS	1,275.00000	7,650.00	850.00000	5,100.00		
	2106 BLY, F&I, TYPE F	8.000 AS	2,325.00000	18,600.00	900.00000	7,200.00		
0035 0706 RETRO-REFLI PAVEMENT M	ECTIVE/RAISED	373.000 EA	4.00000	1,492.00	5.50000	2,051.50		
PAINTED PAV	11101 EMENT MARKINGS, VHITE, SOLID, 6"	1.476 , GM	1,059.00000	1,563.08	1,750.00000	2,583.00		



02/15/2019

Tabulation of Bids

Page 5 of 7

Letting: 05190205 F	ebruary 05, 2	019 Ca l	l Order: 004		Contract:	E5U74	
Line No / Item ID Alternate Item Description	Quantity Units	(4) PREFERREI IN((5) P & S PA	VING, INC.		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ASPHALT REP	AIR (MECHANICA	AL) (TN)				
0045 0710 11102 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR INTERCHANGE AND URBAN ISLAND	0.010 GM , 8"	1,450.00000	14.50	11,000.00000	110.00		
0050 0710 11123 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 1	2,035.000 LF 2"	0.50000	1,017.50	5.50000	11,192.50		
0055 0710 11124 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR DIAGONAL OR CHEVRON, 18"	224.000 LF	0.60000	134.40	5.50000	1,232.00		
0060 0710 11125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STO LINE OR CROSSWALK, 24"	228.000 LF DP	0.70000	159.60	11.00000	2,508.00		
0065 0710 11131 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 10-30 OF SKIP, 6" WIDE	0.540 GM ₹ 3-9	650.00000	351.00	950.00000	513.00		
0070 0710 11141 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 DOTTED EXTENSIO 6"	0.090 GM DN,	650.00000	58.50	110.00000	9.90		
0075 0710 11160 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, MESSAGE OR SYMBOL	9.000 EA	30.00000	270.00	110.00000	990.00		



Page 6 of 7

	05400005					• • •		
Letting:	05190205	February 05, 2	019 Ca l	I Order: 004		Contract:	E5U74	
Line No / Item Item Descripti		te Quantity Units	(4) PREFERREI INC		(5) P & S PA	VING, INC.		
() indicates item	is bid as Lump Sum	,	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIC	N: 0001	ASPHALT REP	AIR (MECHANICA	AL) (TN)				
0080 0710 111 PAINTED PAVEM STANDARD, WHI	ENT MARKINGS,	28.000 , EA	25.00000	700.00	110.00000	3,080.00		
0085 0710 112 PAINTED PAVEM STANDARD, YELI	ENT MARKINGS,	1.073 , GM	1,063.00000	1,140.60	1,750.00000	1,877.75		
0090 0710 112 PAINTED PAVEM STANDARD, YELI DIAGONAL OR CI	ENT MARKINGS, LOW, SOLID FOR	,	0.60000	48.60	11.00000	891.00		
	PHALT REPAIR S HANICAL) (TN)	Section Totals:		\$420,000.00		\$437,229.36		

Contract Grand Totals:

\$420,000.00

\$437,229.36



Page 7 of 7

Letting:	05190205	February 05, 2019	Call Order: 004	Contract:	E5U74
		120.57(3), Florida	ile a protest within the time prescribed in Statutes, or failure to post the bond or oth thin the time allowed for filing a bond sha	her security	

a waiver of proceedings under chapter 120, Florida Statutes.